Wednesday, 28th October,2020
1. Match
Butterfly                                            arcoiris
Cinema                                              mariposa
Worm                                                 cine
Rainbow                                             gusano
2.  Draw:
There is one spider.

There are three flowers. 

3. Complete.  ARE / IS
There ____ some insects.
There _____ an ant.
There ____ six flowers.



4. [image: Símbolo de la igualdad | Icono Gratis]Match.
[image: Iconos de computadora más y menos signos de símbolo, más, diverso, cruzar,  firmar png | PNGWing]Minus

[image: Pequeño símbolo menos | Icono Gratis]Plus

Equals

5. Make these sentences negatives using ISN’T or AREN’T.
There are seven mushrooms
There aren’t seven mushrooms.
[bookmark: _GoBack]There is a rock.
________________________________________
There are lions.
________________________________________
There is a plant.
________________________________________

6. Complete with SOME or ANY.
There are ____ animals.
There isn’t ____ tifftiff plant.
Are there ____ insects.
There is _____ water.
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